Viscosity Approximation Methods for Mean Non-Expansive Mappings in Banach Spaces

Yishuai Yang and Yunan Cui

Department of Mathematics
Harbin University of Science and Technology
Harbin 150080, P. R. China
vishuaiyang1984@yahoo.com.cn, cuiya@hrbust.edu.cn

Abstract. Let C be a nonempty closed convex subset of a real reflexive Banach space X that has weakly continuous duality mapping J. Let $T: C \to C$ be a Mean non-expansive mapping with $F(T) \neq \emptyset$. For any $t \in (0,1)$, there exists a sequence $\{x_t\} \in C$ satisfying $x_t = tf(x_t) + (1-t)Tx_t$, where $f: C \to C$ is a contraction mapping. Then it is proved that $\{x_t\} \in C$ converges strongly to a fixed point of T which is also a solution of certain variational inequality.

Mathematics Subject Classification: 46B20, 46E30

Keywords: Viscosity approximation method, Mean non-expansive mappings, Fixed points.

1. Introduction

Let X be a real Banach space, and let J denote the normalized duality from X into 2^{X^*} given by

$$J(x) = \{f \in X^* : \langle x, f \rangle = \|x\| \|f\|, \|f\| = \|x\|\}, \ \forall x \in X,$$

where X^* denotes the dual space of X and $\langle \cdot, \cdot \rangle$ denotes the generalized duality pairing. In the sequel, we shall denote the single-valued duality mapping by j, and denote $F(T) = \{x \in X : Tx = x\}$. When $\{x_n\}$ is a sequence in X, then $x_n \to x(x_n \rightharpoonup x, x_n \multimap x)$ will denote strong(weak, weak star)convergence of the sequence $\{x_n\}$ to x.

Let X be a real Banach space and T a mapping with domain D(T) and range R(T) in X. T is called non-expansive(contractive) if for any $x, y \in D(T)$ such that

$$||Tx - Ty|| \le ||x - y|| (||Tx - Ty|| \le \alpha ||x - y|| \text{ for some } 0 < \alpha < 1).$$

In 1967, Browder [2] considered an iteration in a Hilbert space as follows. Let u be an arbitrary point of C and define a contraction by

$$T_t^f: x \mapsto tu + (1-t)Tx, \ x \in C, \tag{1}$$

where $t \in (0, 1)$. it proved that the fixed point sequence $\{x_t\}$ of $\{T_t^f\}$ converges as $t \to 0$ strongly to a fixed point of T. In 1980, Reich [7] extended the result of Browder to a uniformly smooth Banach spaces.

In 2000, Moudafi [6] introduced viscosity approximation methods and proved that if X is a real Hilbert space, the sequence $\{x_t\}$ defined by the following:

$$x_t = tf(x_t) + (1-t)Tx_t,$$
 (2)

converges strongly to a fixed point of the non-expansive self-mapping T in C which is the unique solution to the following variational inequality:

$$\langle (I-f)u^*, J(p-u^*) \rangle \ge 0, \ \forall \in F(T).$$

In 2004, Xu [9] studied further the viscosity approximation methods for non-expansive mappings in uniformly smooth Banach space, and proved that as $t \downarrow 0$, $\{x_t\}$ defined by (2) converges to a point in F(T) that is the unique solution of the variation inequality.

A Banach space X is said to admit a weakly sequentially continuous normalized duality mapping $J: X \to X^*$, if J is single-value and weak-weak* continuous, i.e., for any sequence $\{x_n\}$ in X, if $x_n \to x$ in X, then $J(x_n) \to J(x)$ in X^* .

In 2006, Xu [10] proved the strong convergence of $\{x_t\}$ defined by (1) in a reflexive Banach space with a weakly continuous duality map J_{φ} with gauge φ . And it also considered the following iterative scheme:

$$x_{n+1} = (1 - \alpha_n)J_{r_n}x_n + \alpha_n u, \ n \ge 0,$$
 (3)

where $u \in C$ is arbitrarily fixed, $\{\alpha_n\}$ is a sequence in (0,1), and $\{r_n\}$ is a sequence of positive numbers. Xu proved that if X is a reflexive Banach space with weakly continuous duality mapping, then the sequence $\{x_n\}$ given by (3) converges strongly to a point in F(T) provided the sequences $\{\alpha_n\}$ and $\{r_n\}$ satisfy certain conditions.

Let X be a real Banach space, C a bounded closed convex subset of X and $T: C \to C$ be a mapping, T is called a mean non-expansive mapping if

$$||Tx - Ty|| \le a||x - y|| + b||x - Ty||, \ \forall x, y \in C, a, b \ge 0, a + b \le 1.$$
 (4)

In 1975, Zhang [12] introduced this definition and proved that T has a unique fixed point in C, where C is a weakly compact closed convex subset and has normal structure. In 2007, Wu [8] proved that If a+b<1, then mean non-expansive T defined by (4) has a unique fixed point.

The objective of this paper is to consider the following two iterations for a mean non-expansive mapping T in a reflexive Banach space X which has a

weakly continuous duality mapping:

$$x_{t} = tf(x_{t}) + (1 - t)Tx_{t}, \ t \in (0, 1),$$

$$x_{n+1} = (1 - \alpha_{n})Tx_{n} + \alpha_{n}f(x_{n}), \ n \ge 0.$$
 (5)

2. Preliminaries

To this purpose, let us first recall the following some lemmas.

Lemma 1 [3] If X is a reflexive Banach space which admits a weakly sequentially continuous normalized duality mapping, then X satisfies the Opial's condition, i.e., wheneven $x_n \rightharpoonup x$ in X and $y \neq x$, then

$$\lim\inf \|x_n - x\| < \lim\inf \|x_n - y\|.$$

Lemma 2 [5] Let X be a real Banach space. For each $x, y \in X$, the following conclusions hold:

$$||x+y||^2 \le ||x||^2 + 2\langle y, j(x+y)\rangle, \quad \forall j(x+y) \in J(x+y),$$

 $||x+y||^2 \ge ||x||^2 + 2\langle y, j(x)\rangle, \quad \forall j(x) \in J(x).$

Lemma 3 [4] Let $\{a_n\}$, $\{b_n\}$, $\{c_n\}$ be three nonnegative real sequences satisfying

$$a_{n+1} \le (1 - t_n)a_n + b_n + c_n$$

with
$$\{t_n\} \subset [0,1]$$
, $\sum_{n=0}^{\infty} t_n = \infty$, $b_n = o(t_n)$, and $\sum_{n=0}^{\infty} c_n < \infty$. Then $a_n \to 0$.

Lemma 4 Let X be a Banach space with a weakly sequentially continuous normalized duality mapping, C a bounded closed convex subset of X and let $\{x_n\}$ be a bounded sequence of X and $u \in C$. Then

$$LIM||x_n - u||^2 = \min_{u \in C} LIM||x_n - y||^2$$

if and only if

$$LIM \langle z - u, j(x_n - u) \rangle \le 0$$

for all $z \in C$, where LIM is a Banach limit on ℓ^{∞} .

Proof. For z in C and $\lambda: 0 \leq \lambda \leq 1$, we have by Lemma 2 that

$$||x_n - u||^2 = ||x_n - \lambda u - (1 - \lambda)z + (1 - \lambda)(z - u)||^2$$

$$\geq ||x_n - \lambda u - (1 - \lambda)z||^2$$

$$+2(1 - \lambda)\langle z - u, J(x_n - \lambda u - (1 - \lambda)z)\rangle$$

Let $\varepsilon > 0$ be given. Since X is reflexive which admits a weakly sequentially continuous duality mapping. Therefore,

$$|\langle z-u, J(x_n-\lambda u-(1-\lambda)z)-J(x_n-u)\rangle|<\varepsilon,$$

if λ is close enough to 1. Consequently, we have

$$|\langle z - u, J(x_n - u) \rangle| < \varepsilon + \langle z - u, J(x_n - \lambda u - (1 - \lambda)z) \rangle$$

$$\leq \varepsilon + \frac{1}{2(1 - \lambda)} \{ ||x_n - u||^2 - ||x_n - \lambda u - (1 - \lambda)z||^2 \}$$

and hence

$$LIM\langle z-u,J(x_n-u)\rangle$$

$$\leq \varepsilon + \frac{1}{2(1-\lambda)} \{ LIM \|x_n - u\|^2 - LIM \|x_n - \lambda u - (1-\lambda)z\|^2 \} < \varepsilon.$$

Since $\epsilon > 0$ is arbitary, we have $LIM \langle z - u, j(x_n - u) \rangle \leq 0$ for all $z \in C$. We prove the converse. Let $z, u \in C$. Then, by Lemma 2,

$$||x_n - z||^2 - ||x_n - u||^2 \ge 2\langle u - z, J(x_n - u)\rangle,$$

for all $n \ge 1$ and $LIM\langle z-u, J(x_n-u)\rangle \le 0$, we have

$$LIM||x_n - z||^2 = \min_{x \in K} LIM||x_n - x||^2.$$

Remark 1. If we suppose that X be a Banach space with a uniformly Gateaux differentiable norm, then the duality map is uniformly continuous on bounded subset of X from the strong topology of X to the weak star topology of X^* (see [11]). Thus, it also satisfies the above result.

3. Main results

Let X be a Banach space, C a closed convex subset of X, $T: C \to C$ a mean non-expansive mapping with $F(T) \neq \emptyset$ and $f: C \to C$ be a contraction with contraction constant α . For given $t \in (0,1)$ define a napping $T_t: C \to C$ by

$$T_t(x) = tf(x) + (1-t)Tx, \ x \in C.$$

Clearly, for each $x_t \in C$, we have that T_t is mean non-expansive. Therefore, by Lemma 2.1 of [8], T_t has a unique fixed point(say) $x_t \in C$, that is

$$x_t = tf(x_t) + (1-t)Tx_t.$$
 (6)

Concerning the convergence problem of sequence $\{x_t\}$, we can prove the following results.

Theorem 1 Let X be a real reflexive Banach space with a weakly sequentially continuous normalized duality mapping $J: X \to X^*$, C a closed convex subset of $X, T: C \to C$ defined by (4) a mean non-expansive mapping with $F(T) \neq \emptyset$, and $f: C \to C$ be a contraction with contraction constant α . Then $\{x_t\}$ defined by (6) converges strongly to a point in F(T). If we define $Q: \prod_C \to F(T)$ by

$$Q(f) := \lim_{t \to 0} x_t,$$

where $\prod_C := \{f : C \to C \text{ contraction with contraction constant } \alpha\}$, then Q(f) solves the variational inequality

$$\langle (I-f)Q(f), J(Q(f)-p) \rangle \le 0, \ p \in F(T) \tag{7}$$

Proof. We first show that the sequence $\{x_t\}$ defined by (6) is bounded. In fact, take a $p \in F(T)$, we have

$$||x_{t} - p|| \leq (1 - t)||Tx_{t} - p|| + t||f(x_{t}) - p||$$

$$\leq (1 - t)(a||x_{t} - p|| + b||x_{t} - Tp||) + t||f(x_{t}) - p||$$

$$= (1 - t)(a||x_{t} - p|| + b||x_{t} - p||) + t||f(x_{t}) - p||$$

$$\leq (1 - t)||x_{t} - p|| + t||f(x_{t}) - p||$$

It follows that

$$||x_{t} - p|| \leq ||f(x_{t}) - p||$$

$$\leq ||f(x_{t}) - f(p)|| + ||f(p) - p||$$

$$\leq \alpha ||x_{t} - p|| + ||f(p) - p||$$

Hence

$$||x_t - p|| \le \frac{1}{1 - \alpha} ||f(p) - p||$$
 (8)

and $\{x_t\}$ is bounded. Assume $t_n \to 0$. Let $x_n := x_{t_n}$, then $\{x_n\}$ is bounded, so are $\{fx_n\}$. We claim that

$$||x_n - Tx_n|| \to 0 \tag{9}$$

Since

$$||x_{n} - Tx_{n}|| = ||t_{n}f(x_{n}) + (1 - t_{n})Tx_{n} - Tx_{n}||$$

$$= t_{n}||f(x_{n}) - Tx_{n}||$$

$$= t_{n}||f(x_{n}) - p + p - Tx_{n}||$$

$$\leq t_{n}(||f(x_{n}) - p|| + ||Tx_{n} - p||)$$

$$\leq t_{n}(||f(x_{n}) - p|| + a||x_{n} - p|| + b||x_{n} - Tp||)$$

$$\leq t_{n}(||f(x_{n}) - p|| + ||x_{n} - p||)$$

Let $M \ge 2max\{||f(x_n) - p||, ||x_n - p||\}$, we have

$$||x_n - Tx_n|| \le t_n M \to 0 (as \ t_n \to 0).$$

Now we define $\mu: C \to \mathbb{R}$ by

$$\mu(x) = LIM||x_n - x||^2, \ x \in C,$$

Let

$$K = \{x \in C : \mu(x) = \min_{x \in C} LIM ||x_n - x||^2\}.$$

It is easily seen that K is a nonempty closed convex bounded subset of X. Since (note that $||x_n - Tx_n|| \to 0$)

$$\mu(Tx) = LIM||x_n - Tx||^2 = LIM||Tx_n - Tx||^2,$$

and

$$LIM||Tx_n - Tx||^2 \le LIM(a||x_n - x|| + b||x_n - Tx||)^2$$

$$= LIM(a^2||x_n - x||^2 + b^2||x_n - Tx||^2$$

$$+2ab||x_n - x|| ||x_n - Tx||)$$

$$\le LIM(a^2||x_n - x||^2 + 2ab||x_n - Tx||^2 + b^2||x_n - Tx||^2)$$

Hence

$$\mu(Tx) \le \frac{a^2}{1 - b^2 - 2ab} LIM ||x_n - x||^2 \le LIM ||x_n - x||^2 = \mu(x),$$

it follows that $T(K) \subset K$, that is, K is invariant under T. since X is reflexive, we get that μ attains its infimum over K(see [1]). That is there exists a $y \in K$ such that

$$LIM||x_n - y||^2 = \min_{x \in C} LIM||x_n - x||^2$$

We next proved that y = T(y). Suppose, by way of contradiction, that $y \neq T(y)$. Since $\{x_n\}$ is bounded, without lose of generality, we may assume that $\{x_n\}$ converges weakly to a point $x^* \in C$, then

$$LIMinf ||x_n - T(y)||^2 \leq LIMinf ||Tx_n - T(y)||^2$$

$$\leq LIMinf (a||x_n - y|| + b||x_n - T(y)||)^2$$

$$\leq LIMinf (a^2||x_n - y||^2 + 2ab||x_n - T(y)||^2$$

$$+b^2||x_n - T(y)||^2)$$

Hence

$$LIMinf||x_n - T(y)|| \leq \frac{a}{\sqrt{1 - b^2 - 2ab}} LIMinf||x_n - y||$$

$$\leq LIMinf||x_n - y||$$

$$\leq LIMinf||x_n - x^*||$$

on the other hand, From Lemma 1 we get that

$$LIMinf||x_n - x^*|| < LIMinf||x_n - T(y)||,$$

a contradiction. Thus y = T(y). That is, y is a fixed point of T, we also have by Lemma 4 that

$$LIM\langle x - y, J(x_n - y) \rangle < 0, \ x \in C$$
 (10)

Since

$$||x_{t} - y||^{2} = ||t(f(x_{t}) - y) + (1 - t)(Tx_{t} - y)||^{2}$$

$$= \langle t(f(x_{t}) - y) + (1 - t)(Tx_{t} - y), J(x_{t} - y) \rangle$$

$$\leq t \langle f(x_{t}) - y, J(x_{t} - y) \rangle + (1 - t)||Tx_{t} - y||||x_{t} - y||$$

$$\leq t \langle f(x_{t}) - y, J(x_{t} - y) \rangle + (1 - t)(a||x_{t} - y||$$

$$+ b||x_{t} - T(y)||)||x_{t} - y||$$

$$\leq t \langle f(x_{t}) - y, J(x_{t} - y) \rangle + (1 - t)||x_{t} - y||^{2}$$

then

$$||x_t - y||^2 \le \langle f(x_t) - y, J(x_t - y) \rangle$$

$$= \langle f(x_t) - x, J(x_t - y) \rangle + \langle x - y, J(x_t - y) \rangle$$
(11)

Hence, for all $x \in C$

$$LIM\|x_n - y\|^2 \leq LIM\langle f(x_n) - x, J(x_n - y)\rangle + LIM\langle x - y, J(x_n - y)\rangle$$

$$\leq LIM\langle f(x_n) - x, J(x_n - y)\rangle$$

$$\leq LIM\|f(x_n) - x\|\|x_n - y\|$$

In particular, let x = f(y),

$$LIM||x_n - y||^2 \le LIM||f(x_n) - f(y)||||x_n - y|| \le \alpha LIM||x_n - y||^2$$

Hence,

$$LIM||x_n - y||^2 = 0,$$

and there exists a subsequence of $\{x_t\}$ which is still denoted $\{x_n\}$ such that $x_n \to y$.

Now assume there exists another subsequence $\{x_m\}$ of $\{x_t\}$ such that $x_m \to y^* \in F(T)$.

It follows from (11) that

$$||y^* - y||^2 \le \langle f(y^*) - y, J(y^* - y) \rangle$$

Interchange y^* and y to obtain

$$||y - y^*||^2 \le \langle f(y) - y^*, J(y - y^*) \rangle$$

Which implies that

$$2\|y^* - y\|^2 \le \langle f(y^*) - y, J(y^* - y)\rangle \le (1 + \alpha)\|y^* - y\|^2.$$

Since $\alpha \in (0,1)$, this implies that $y^* = y$. Consequently, $x_t \to y$ as $t \to 0$. Now we show that Q(f) satisfies (7).

Define $Q := \prod_C \to F(T)$ by

$$Q(f) := \lim_{t \to 0} x_t. \tag{12}$$

We have by (6) that

$$(I - f)x_t = -\frac{1 - t}{t}(I - T)x_t. \tag{13}$$

Hence for $p \in F(T)$,

$$\langle (I-f)x_t, J(x_t-p)\rangle = -\frac{1-t}{t}\langle (I-T)x_t - (I-T)p, J(x_t-p)\rangle \le 0. \quad (14)$$

Letting $t \to 0$, we claim that

$$\langle (I - f)Q(f), J(Q(f) - p) \rangle \le 0 \tag{15}$$

In fact, let $x^{**} = Q(f)$ and since X is a reflexive Banach space which admits a weakly sequentially continuous normalized duality mapping. Hence

$$|\langle f(x^{**}) - x^{**}, J(p - x^{**}) \rangle - \langle f(x_t) - x_t, J(p - x_t) \rangle|$$

$$= |\langle f(x^{**}) - x^{**}, J(p - x^{**}) - J(p - x_t) \rangle$$

$$+ \langle (f(x^{**}) - x^{**}) - (f(x_t) - x_t), J(p - x_t) \rangle|$$

$$\leq \langle f(x^{**}) - x^{**}, J(p - x^{**}) - J(p - x_t) \rangle$$

$$+ ||(f(x^{**}) - x^{**}) - (f(x_t) - x_t)|| ||p - x_t|| \to 0$$

Thus, for any $\epsilon > 0$, there exists a $\delta > 0$ such that

$$\langle f(x^{**}) - x^{**}, J(p - x^{**}) \rangle < \langle f(x_t) - x_t, J(x_t - p) \rangle + \varepsilon \le \varepsilon,$$

for any $t \in (0, \delta)$ and for all n > 1. Since $\epsilon > 0$ is arbitrary, we have

$$\langle (I - f)x^{**}, J(x^{**} - p) \rangle \le 0.$$

Theorem 2 Let X be a real reflexive Banach space with a weakly sequentially continuous normalized duality mapping $J: X \to X^*$, C a bounded closed convex subset of X, $T: C \to C$ defined by (4) a mean non-expansive mapping with $F(T) \neq \emptyset$ and $f \in \prod_C$. For any given $x_0 \in C$, let $\{x_n\}$ be the iterative sequence defined by (5) and $\{\alpha_n\}$ satisfies the following conditions:

- (i) $\lim_{n\to\infty} \alpha_n = 0$;
- (ii) $\sum_{n=0}^{\infty} \alpha_n = \infty;$
- (iii) either $\sum_{n=0}^{\infty} |\alpha_{n+1} \alpha_n| < \infty$ or $\lim_{n \to \infty} (\alpha_{n+1}/\alpha_n) = 1$.

Then $\{x_n\}$ convergence strongly to Q(f), where $Q := \prod_C \to F(T)$ is defined by (12).

Proof. By (8), it is easy to prove that the sequence $\{x_n\}$ defined by (5) is bounded, so are $\{Tx_n\}$ and $\{f(x_n)\}$.

We claim that

$$||x_{n+1} - x_n|| \to 0. ag{16}$$

Indeed we have (for some appropriate M > 0)

$$||x_{n+1} - x_n|| = ||(1 - \alpha_n)(Tx_n - Tx_{n-1}) + (\alpha_n - \alpha_{n-1})(f(x_{n-1}) - Tx_{n-1}) + \alpha_n(f(x_n) - f(x_{n-1})||$$

$$\leq (1 - \alpha_n)(a||x_n - x_{n-1}|| + b||x_n - Tx_{n-1}||) + |\alpha_n - \alpha_{n-1}|||f(x_{n-1}) - Tx_{n-1}|| + \alpha\alpha_n||x_n - x_{n-1}||$$

$$\leq (1 - \alpha_n)(a||x_n - x_{n-1}|| + \alpha_{n-1}||f(x_{n-1}) - Tx_{n-1}||) + |\alpha_n - \alpha_{n-1}|||f(x_{n-1}) - Tx_{n-1}|| + \alpha_n||x_n - x_{n-1}||$$

$$\leq (1 - \alpha_n)a||x_n - x_{n-1}|| + ((1 - \alpha_n)\alpha_{n-1} + |\alpha_n - \alpha_{n-1}|)M + \alpha_n||x_n - x_{n-1}||$$

$$= (1 - (1 - a)(1 - \alpha_n)||x_n - x_{n-1}|| + M|\alpha_n - \alpha_{n-1}| + M(1 - \alpha_n)\alpha_{n-1}.$$

If $\sum_{n=0}^{\infty} |\alpha_{n+1} - \alpha_n| < \infty$, then we can let $a_n = ||x_n - x_{n-1}||$, $b_n = M(1 - \alpha_n)\alpha_{n-1}$, $t_n = (1-a)(1-\alpha_n)$, $c_n = M|\alpha_n - \alpha_{n-1}|$, for any $n \ge 0$, then by Lemma 3, we have

$$||x_{n+1} - x_n|| \to 0 (as \ n \to \infty).$$

If $\lim_{n\to\infty} (\alpha_{n+1}/\alpha_n) = 1$, then let $c_n = 0$, $a_n = ||x_n - x_{n-1}||$, $t_n = (1-a)(1-\alpha_n)$ and

$$b_n = \alpha_n \frac{M|\alpha_n - \alpha_{n-1}|}{\alpha_n} + M(1 - \alpha_n)\alpha_{n-1} = |1 - \frac{\alpha_{n-1}}{\alpha_n}|\alpha_n M + M(1 - \alpha_n)\alpha_{n-1},$$

for any $n \ge 0$, then the conditions of Lemma 3 are also satisfied. Hence, we have $||x_{n+1} - x_n|| \to 0$.

We now show that

$$||x_n - Tx_n|| \to 0.$$

Indeed this following from (16),

$$||x_n - Tx_n|| \le ||x_n - x_{n+1}|| + ||x_{n+1} - Tx_n||$$

= $||x_n - x_{n+1}|| + \alpha_n ||f(x_n) - Tx_n|| \to 0.$

We next show that

$$\lim \sup_{n \to \infty} \langle x^* - f(x^*), J(x^* - x_n) \rangle \le 0, \tag{17}$$

where $x^* = Q(f)$. Indeed we can write

$$x_t - x_n = t(f(x_t) - x_n) + (1 - t)(Tx_t - x_n).$$

Putting

 $P_n(t) = ||Tx_n - x_n||(2a||x_t - x_n|| + 2b||Tx_t - x_n|| + ||Tx_n - x_n||) \to 0 (n \to \infty)$ and using Lemma 2, we obtain

$$||x_{t} - x_{n}||^{2} \leq (1 - t)^{2} ||Tx_{t} - x_{n}||^{2} + 2t\langle f(x_{t}) - x_{n}, J(x_{t} - x_{n})\rangle$$

$$\leq (1 - t)^{2} ||Tx_{t} - x_{n}||^{2} + 2t\langle f(x_{t}) - x_{t}, J(x_{t} - x_{n})\rangle$$

$$+2t||x_{t} - x_{n}||^{2}.$$

Since

$$||Tx_{t} - x_{n}||^{2} \leq (||Tx_{t} - Tx_{n}|| + ||Tx_{n} - x_{n}||)^{2}$$

$$\leq (a||x_{t} - x_{n}|| + b||Tx_{t} - x_{n}|| + ||Tx_{n} - x_{n}||)^{2}$$

$$= a^{2}||x_{t} - x_{n}||^{2} + b^{2}||Tx_{t} - x_{n}||^{2} + 2ab||x_{t} - x_{n}|| ||Tx_{t} - x_{n}||$$

$$+ ||Tx_{n} - x_{n}||(2a||x_{t} - x_{n}|| + 2b||Tx_{t} - x_{n}|| + ||Tx_{n} - x_{n}||)$$

$$\leq a^{2}||x_{t} - x_{n}||^{2} + b^{2}||Tx_{t} - x_{n}||^{2} + ab(||x_{t} - x_{n}||^{2} + ||Tx_{t} - x_{n}||^{2}) + P_{n}(t).$$

Then

$$||Tx_t - x_n||^2 \le \frac{a^2 + ab}{1 - b^2 - ab} ||x_t - x_n||^2 + \frac{P_n(t)}{1 - b^2 - ab}$$
$$\le ||x_t - x_n||^2 + \frac{P_n(t)}{1 - b^2 - ab}.$$

Hence

$$||x_t - x_n||^2 \le (1 - t)^2 ||x_t - x_n||^2 + \frac{P_n(t)}{1 - b^2 - ab} + 2t \langle f(x_t) - x_t, J(x_t - x_n) \rangle + 2t ||x_t - x_n||^2.$$

This implies

$$\langle x_t - f(x_t), J(x_t - x_n) \rangle \le \frac{t}{2} ||x_t - x_n||^2 + \frac{1}{2t} P_n(t).$$

It follows that

$$\lim \sup_{n \to \infty} \langle x_t - f(x_t), J(x_t - x_n) \rangle \le M \frac{t}{2},$$

where M > 0 is a constant such that $M \ge ||x_t - x_n||^2$ for all $n \ge 1$ and $t \in (0,1)$. Let $t \to 0$, then according to inequality (15) proved in Theorem 1, we obtain (17).

Now we let

$$\gamma_n = \max\{\langle x^* - f(x^*), J(x^* - x_n)\rangle, 0\} \ge 0,$$

for any $n \geq 0$, we can prove that $\lim_{n \to \infty} \gamma_n = 0$. In fact, by (17), for given $\epsilon > 0$, there exists a natural $n_1 \in \mathbb{N}$ such that

$$\langle x^* - f(x^*), J(x^* - x_n) \rangle < \epsilon,$$

whenever $n \geq n_1$, thus, $0 \leq \gamma_n < \epsilon$, this implies $\lim_{n \to \infty} \gamma_n = 0$.

Finally we show that $x_n \to x^*$. Apply Lemma 2 to get

$$||x_{n+1} - x^*||^2 = ||(1 - \alpha_n)(Tx_n - x^*) + \alpha_n(f(x_n) - x^*)||^2$$

$$\leq (1 - \alpha_n)^2 ||Tx_n - x^*||^2 + 2\alpha_n \langle f(x_n) - x^*, J(x_{n+1} - x^*) \rangle$$

$$\leq (1 - \alpha_n)^2 ||x_n - x^*||^2 + 2\alpha_n \langle f(x_n) - f(x^*), J(x_{n+1} - x^*) \rangle$$

$$+ 2\alpha_n \langle f(x^*) - x^*, J(x_{n+1} - x^*) \rangle$$

$$\leq (1 - \alpha_n)^2 ||x_n - x^*||^2 + 2\alpha\alpha_n ||x_n - x^*|| ||x_{n+1} - x^*||$$

$$+ 2\alpha_n \langle f(x^*) - x^*, J(x_{n+1} - x^*) \rangle$$

$$\leq (1 - \alpha_n)^2 ||x_n - x^*||^2 + \alpha\alpha_n (||x_n - x^*||^2 + ||x_{n+1} - x^*||^2)$$

$$+ 2\alpha_n \langle f(x^*) - x^*, J(x_{n+1} - x^*) \rangle$$

$$\leq (1 - \alpha_n)^2 ||x_n - x^*||^2 + \alpha\alpha_n (||x_n - x^*||^2 + ||x_{n+1} - x^*||^2)$$

$$+ 2\alpha_n \gamma_{n+1}.$$

It then follows that

$$||x_{n+1} - x^*||^2 \le \frac{1 - (2 - \alpha)\alpha_n + \alpha_n^2}{1 - \alpha\alpha_n} ||x_n - x^*||^2 + \frac{2\alpha_n}{1 - \alpha\alpha_n} \gamma_{n+1}$$

$$\le \frac{1 - (2 - \alpha)\alpha_n}{1 - \alpha\alpha_n} ||x_n - x^*||^2 + \frac{2\alpha_n}{1 - \alpha\alpha_n} \gamma_{n+1} + M\alpha_n^2$$

$$= \frac{1 - (2 - \alpha)\alpha_n}{1 - \alpha\alpha_n} ||x_n - x^*||^2 + \alpha_n (\frac{2}{1 - \alpha\alpha_n} \gamma_{n+1} + M\alpha_n).$$

Let

$$a_n = ||x_n - x^*||^2, t_n = \frac{2\alpha_n(1 - \alpha)}{1 - \alpha\alpha_n}, b_n = \alpha_n(M\alpha_n + \frac{2}{1 - \alpha\alpha_n}\gamma_{n+1}), c_n = 0,$$

then

$$\sum_{n=0}^{\infty} t_n = \sum_{n=0}^{\infty} \frac{2\alpha_n(1-\alpha)}{1-\alpha\alpha_n} > \sum_{n=0}^{\infty} 2\alpha_n(1-\alpha) = \infty,$$

and

$$\frac{b_n}{t_n} = \frac{1 - \alpha \alpha_n}{2(1 - \alpha)} (M\alpha_n + \frac{2}{1 - \alpha \alpha_n} \gamma_{n+1})$$

$$\leq \frac{M\alpha_n}{2(1 - \alpha)} + \frac{1}{1 - \alpha} \gamma_{n+1} \to 0.$$

Finally apply Lemma 3 to conclude that $x_n \to x^*$.

Acknowledgment. In case of Prof. Cui Yunan this paper was supported by NSF of CHINA, Grant number: 10571037.

References

- [1] V. Barbu and T. Precupanu, Convexity and Optimization in Banach spaces, Editura Academiei, Bucharest, 1978.
- [2] F. E. Browder, Convergence of approximants to fixed points of nonexpansive nonlinear mappings in Banach spaces, *Arch Rational Mech Anal* **24** (1967), 82-90.
- [3] T. C. Lim and H. K. Xu, Fixed point theories for asymptotically nonexpmsive mappings, *Nonlinear Anal TMA* **22** (1994), 1345-1355.
- [4] L. S. Liu, Ishikawa and Mann iterafive processes with errors for nonlinear strongly accretive mappings in Banach spaces, *J. Math. Anal. Appl* **194** (1995), 114-125.
- [5] C. H. Morales and J. S. Jung, Convergence of paths for pseudo-contractive mappings in Banach spaces, Proc. Amer. Math. Soc 128 (2000), 3411-3419.
- [6] A. Moudafi, Viscosity approximation methods for fixed point problems, *J. Math. Anal. Appl* **241** (2000), 46-55.
- [7] S. Reich, Strong convergence theorems for resolvents of accretive operators in Banach spaces, J. Math. Anal. Appl 75 (1980), 287-292.
- [8] C. X. Wu and L. J. Zhang, Fixed points for mean non-expansive mappings, *Acta Mathematicae Applicatae Sinica* Vol.23, No.3 (2007), 489-494.
- [9] H. K. Xu, Viscosity approximation methods for nonexpansive mappings, *J. Math. Anal. Appl* **298** (2004), 279-291.
- [10] H. K. Xu, Strong convergence of an iterative method for nonexpansive and accretive operators, *J. Math. Anal. Appl* **314** (2006), 631-643.
- [11] W. Takahashi and Y. Ueda, On Reich's strong convergence theorems for resolvents of accretive operators. J. Math. Anal. Appl, 104(1984), 546–553.
- [12] S. S. Zhang, About fixed point theory for mean nonexpansive mapping in Banach spaces, Journal of Sichuan University 2 (1975), 67-78.

Received: September 3, 2007